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QUESTION 1

Which is the default port of IP-Winbox? 

A. UDP 8291 

B. TCP 80 

C. TCP 8291 

D. TCP 8192 

Correct Answer: C 

 

QUESTION 2

Which are necessary sections in /queue simple to set bandwidth limitation? 

A. target-address, max-limit 

B. target-address, dst-address, max-limit 

C. target-address, dst-address 

D. max-limit 

Correct Answer: A 

 

QUESTION 3

Netinstall can be used to 

A. Keep configuration, but reset a lost admin password 

B. Reinstall software without losing licence 

C. Install different software version (upgrade or downgrade) 

D. Install package for different hardware architecture 

Correct Answer: ABC 

 

QUESTION 4

In which situations can Netinstall NOT be used to install a RouterBOARD? 

A. The router does not have an operating system 

B. The router is connected only to a wireless network 
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C. You do not know the password of the router 

D. The router is connected only to a secondary Ethernet port 

Correct Answer: BD 

 

QUESTION 5

Which of the following describe the DHCP Discover message? 

1. 

It uses FF:FF:FF:FF:FF:FF as a layer 2 broadcast. 

2. 

It uses UDP as the Transport layer protocol. 

3. 

It uses TCP as the Transport layer protocol. 

4. 

It does not use a layer 2 destination address. 

A. 1 only 

B. 1 and 2 

C. 3 and 4 

D. 4 only 

Correct Answer: B 
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